
Word P2,i

00 /n ... ... ... 7 12 11 13 12 11 10 9 9 10 11 13 14 16 20 17 15 14 13 13 11 10 10 9 7 ... ... ...
01 /n
10 /n ... ... ... 0 1 0 1 1 0 0 0 0 0 0 1 1 1 1 1 1 1 1 1 0 0 0 0 0 ... ... ...
11 /n

Word P2,i ... ... ... 7 12 11 13 12 11 10 9 9 10 11 13 14 16 20 17 15 14 13 13 11 10 10 9 7 ... ... ...
00 /n⁄2
01 /n⁄2 ...
10 /n⁄2
11 /n⁄2 ...

129.5 12 11.5 9.5 9.5 ... ......

... 0 1 1 0 0 1

15 18.5 14.5 13 10.5 9.5

... ...1 1 1 1 0 0

Sum=n/n

Sum= n⁄2/n⁄2

QMedian =11 m3/s,Data length = n, Number of words =2L = 4 words. AL= 1 hour.
a)

b)

Fig. 2 Illustration for the symbolic strings method, a) the basic approach, b) illustration for data aggregation using 
Aggregation Length  (AL=2).

Word length = 2 letters,

QMedian =11 m3/s,Data length = n/2, Number of words =2L = 4 words. AL= 2 hours.Word length = 2 letters,


